
SAP ABAP table REIS_CASHFLOW_PAY_L {ALV Reporting: Cash Flow}

REIS_CASHFLOW_PAY_L

BUKRS [CHAR (4)]

RESPONSIBLE [CHAR (12)]

USEREXCLUSIVE [CHAR (12)]

RECNTYPE [CHAR (4)]

RECNTLAW [CHAR (5)]

RECNBUKRSCOLLECT [CHAR (4)]

DPTARGETTYPE [CHAR (4)]

RECNNOTREASON [NUMC (2)]

CFPAYGUID [RAW (16)]

TAXTYPE [CHAR (4)]

TAXGROUP [CHAR (20)]

FLOWTYPE [CHAR (4)]

ORIGFLOWTYPE [CHAR (4)]

REFFLOWREL [CHAR (3)]

CONDTYPE [CHAR (4)]

BOOK_FLOWTYPE [CHAR (4)]

BOOK_REFFLOWREL [CHAR (3)]

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 REIS_CASHFLOW_PAY_L-BUKRS = T001-BUKRS 

0..N

1

 REIS_CASHFLOW_PAY_L-RECNBUKRSCOLLECT = T001-BUKRS 0..N

0..N

TIV03

MANDT [CLNT (3)]

SMIETR [CHAR (5)]

 REIS_CASHFLOW_PAY_L-RECNTLAW = TIV03-SMIETR 

0..N

1

TIV26

MANDT [CLNT (3)]

SMVART [CHAR (4)]

 REIS_CASHFLOW_PAY_L-RECNTYPE = TIV26-SMVART 

0..N

1
TIVCDCONDTYPE

MANDT [CLNT (3)]

CONDTYPE [CHAR (4)]

 REIS_CASHFLOW_PAY_L-CONDTYPE = TIVCDCONDTYPE-CONDTYPE 

0..N

1
TIVCDFLOWTYPE

MANDT [CLNT (3)]

FLOWTYPE [CHAR (4)]

 REIS_CASHFLOW_PAY_L-BOOK_FLOWTYPE = TIVCDFLOWTYPE-FLOWTYPE 

0..N1  REIS_CASHFLOW_PAY_L-FLOWTYPE = TIVCDFLOWTYPE-FLOWTYPE 
0..N

1  REIS_CASHFLOW_PAY_L-ORIGFLOWTYPE = TIVCDFLOWTYPE-FLOWTYPE 0..N
1

TIVCDREFFLOWREL

REFFLOWREL [CHAR (3)]

 REIS_CASHFLOW_PAY_L-BOOK_REFFLOWREL = TIVCDREFFLOWREL-REFFLOWREL 

0..N
1

 REIS_CASHFLOW_PAY_L-REFFLOWREL = TIVCDREFFLOWREL-REFFLOWREL 
0..N1

TIVCNDPTYPE

MANDT [CLNT (3)]

DPTYPE [CHAR (4)]

 REIS_CASHFLOW_PAY_L-DPTARGETTYPE = TIVCNDPTYPE-DPTYPE 

0..N

{0,1}

TIVCNNTRE

MANDT [CLNT (3)]

NTREASON [NUMC (2)]

 REIS_CASHFLOW_PAY_L-RECNNOTREASON = TIVCNNTRE-NTREASON 

0..N

{0,1}

TIVRATAXGROUP

MANDT [CLNT (3)]

TAXGROUP [CHAR (20)]

 REIS_CASHFLOW_PAY_L-TAXGROUP = TIVRATAXGROUP-TAXGROUP 

0..N

1

TIVRATAXTYPE

MANDT [CLNT (3)]

COUNTRY [CHAR (3)]

TAXTYPE [CHAR (4)]

 REIS_CASHFLOW_PAY_L-TAXTYPE = TIVRATAXTYPE-TAXTYPE 

0..N

1

USR02

MANDT [CLNT (3)]

BNAME [CHAR (12)]

 REIS_CASHFLOW_PAY_L-RESPONSIBLE = USR02-BNAME 

0..N

1

 REIS_CASHFLOW_PAY_L-USEREXCLUSIVE = USR02-BNAME 

0..N

{0,1}


